B APNaLS_4eALA

UEILA40_LZA4E Y

=
o

[

0.5

alphal3_4eX1X:cyclenum {run == 6122}

5541 55415 5542 5542.5 5543
cyclenum

delta46_12X4eY:cyclenum {run == 6122}

5541 55415 5542 55425 5543

cyclenum

alpha4b_4ey4ay

6124

5123.5

6123

5122.5

6122

5121.5

6121

5120.5

6120

alpha46_4eY4aY:cyclenum {run == 6122}

5541 5541.5 5542 55425 5543

cyclenum

run:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

deltal3_lzx4ex

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

segment:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum




USI_1A

usi_4ey

0.5

=

usl_1X:cyclenum {run == 6122}

P -
e e e eeeeamaenaaaaan .-

5541 55415 5542 5542.5 5543
cyclenum

usl_4eY:cyclenum {run == 6122}

5541 55415 5542 55425 5543

cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

usl_12X:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543

cyclenum

usl_sex

6124

5123.5

6123

5122.5

6122

5121.5

6121

5120.5

6120

usl_4eX:cyclenum {run == 6122}

[

5541 5541.5 5542 5542.5 5543
cyclenum

run:cyclenum {run == 6122}

5541 55415 5542 5542.5 5543

cyclenum



USI_L1A

usI_aey

usr_1X:cyclenum {run == 6122}

0.5

=

_..E ................... * ......................
PR S RPN B
5541 55415 5542 5542.5 5543
cyclenum

usr_4eY:cyclenum {run == 6122}

5541 55415 5542 55425 5543

cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

usr_12X:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543

cyclenum

usr_aex
=

6124

5123.5

6123

5122.5

6122

5121.5

6121

5120.5

6120

usr_4eX:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

run:cyclenum {run == 6122}

5543
cyclenum

5541 55415 5542 5542.5




3029.4

8029.2F
18029 F
8028.8F

8028.6F

3028.4

8028.2

18028

8027.8F
8027.6F
3027.4 F

8027.2F

us1_vunu

11

9.5

usl_coill:cyclenum {run == 6122}

5541 55415 5542 55425

cyclenum

usl_coil6:cyclenum {run == 6122}

5541 55415 5542 5542.5 5543
cyclenum

3038.5

3038

3037.5

3037

3036.5

5434.5

5434

5433.5

5433

5432.5

usl_coil3:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

usl_coil7:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543

cyclenum

[

usl_coll4

05

6124

5123.5

6123

5122.5

6122

5121.5

6121

5120.5

6120

usl_coil4:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

run:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum




6631.5

16632

6632.5

16633

6633.5

usr_coill:cyclenum {run == 6122}

-258.6

-258.8 F
-259F
-259.2 F

-259.4 F

-259.6
-259.8

—260

-260.2F
-260.4F
-260.6 F

-260.8 F

5541 55415 5542 5542.5 5543
cyclenum

usr_coil6:cyclenum {run == 6122}

5541 55415 5542 5542.5 5543
cyclenum

2504.5

-2505

2505.5

-2506

2506.5

3728.5

33728

37275

33727

3726.5

usr_coil3:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

usr_coil7:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543

cyclenum

usr_coll4
=

05

6124

5123.5

6123

5122.5

6122

5121.5

6121

5120.5

6120

usr_coil4:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

run:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum




-297

-297.5

-298

-298.5

—299

-288.5

—-289

-289.5

-290

-290.5

1X_coill:cyclenum {run == 6122}

5541 55415 5542 5542.5 5543
cyclenum

4eX_coill:cyclenum {run == 6122}

5541 55415 5542 5542.5 5543
cyclenum

-20.5

-21.5

-39.5

-40.5

-41

1X_coil3:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

4eX_coil3:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

I 337

336.5

335.5

335

250

249.5

248

1X_coil7:cyclenum {run == 6122}

5541 55415 5542 55425 5543

cyclenum

4eX_coil7:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum




4dY_consd

4eY_cond

4aY_coild:cyclenum {run == 6122}

05

[
T

5541 55415 5542 55425 5543

cyclenum

4eY_coild:cyclenum {run == 6122}

=

5541 55415 5542 5542.5 5543
cyclenum

(]
N

447 _culo

66.5

66

65.5

65

-
>
3

4eY_culo

14

135

13

125

4aY_coil6:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

4eY_coil6:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543

cyclenum

-17.5

-18

-18.5

-19

-19.5

-15.5

-16

-16.5

-17

-175

4aY_coil7:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

4eY_coil7:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum




-222.5

-223

-223.5

-224

-224.5

1en_Lunu

1105

10

9.5

85

12X_coill:cyclenum {run == 6122}

5541 55415 5542 5542.5 5543
cyclenum

12X_coil6:cyclenum {run == 6122}

5541 55415 5542 5542.5 5543
cyclenum

1-78.5

-79.5

-80.5

-521.5

-522

-522.5

-523

-523.5

12X_coil3:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

12X_coil7:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

12X_coll4
=

05

6124

5123.5

6123

5122.5

6122

5121.5

6121

5120.5

6120

12X_coil4:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum

run:cyclenum {run == 6122}

5541 5541.5 5542 5542.5 5543
cyclenum
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